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� �  aA + bB                      cC + dD 

 

    [ C ]c  [ D ]d 
                         Kc = -------------------      ------ 1 
                                    [ A ]a  [ B ]b 

 

          PC
c  × PD

d 
                         Kp = ----------------       ----- 2 
                                    PA

a  × PB b 

    

�
��0	
��-���	-�����$����$�����&
�'����

           PV = nRT 

           

                 n 
  P =    ----- RT    ------- 3 
                         V 
     

              n 
         ----- = ���
����4�)��- 
          V 
 
P = [ ���
����4�)��- ] RT 

  

PA = [A] RT 

PB = [B] RT 

PC = [C] RT 

PD = [D] RT   
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      [  [C] RT   ]c
       [ [D] RT ]d

 

          Kp = -------------------- × ------------------- 

          [  [A] RT ]a         [ [B] RT ]b 

 

                [ C ]c [ D ]d               [RT ]c  [RT ]d 
  Kp =    ------------------ ×  ---------------------      -------- 4 

           [ A ]a [ B ]b         [ RT ]a  [RT ]b 

 
 
                [ C ]c [ D ]d                     [RT ]c+d 
  Kp =    ------------------  ×   ----------------      -------- 4 

           [ A ]a [ B ]b             [ RT ]a+b 

 
                [ C ]c [ D ] d 
  Kp =    ------------------  ×    [RT ](c+d ) – (a+b)    -------- 4 

           [ A ]a [ B ]b            
    
 

 Kp = Kc × [ RT ] ( c + d )  –  ( a + b )    
 

�$�
��� �ng = ( c + d ) – ( a + b ) 

 

Kp = Kc × [RT ] �ng     ----------------- 5 

��5��� �   H2 +  I2                       2HI 

�n = n2 – n1 

�n = 2 – 2 

�n = Zero 

Kp  =  Kc (RT) �n 

Kp  =  Kc (RT) 0 

Kp  =  Kc 
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 H2 I2 2HI 

� a b 0 

 
x x 0 

�<����6�������
����$��
���������� a-x b-x 2x 

�����
	�
��6����
���
����4�)��-�

a - x 
------ 

V 

b - x 
------ 

V 

2 x 
------ 

V 
 

H2 +  I2                       2HI 

 
 
 
              [ HI ] 2 

                         Kc = ---------------      ------ 1 
                                   [ H2 ]  [ I2 ]

 

 

 

       

                            2 x    2 
              ______________ 

                                     V 
        K c =   ----------------------------- 
                ( a– x)         ( b –x ) 
                       ------------- ×  -----------  
                    V          V 
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                   4 x 2  
                       ------------- 
                     V2 
        K c =   --------------------------- 
                 ( a– x)     ( b –x) 
                  -----------------------      
                             V 2    
 

 

 

                                        4 x2                         V2 
                          Kc =   ----------- ×  ----------------------------- 
                         V 2            ( a– x )     ( b –x ) 
 

     

 

 

                                                              4 x 2                     
                          Kp =    Kc  =   ------------------------- 
                                   ( a–x )    ( b –x ) 

 
 
 
 
�n = n2 – n1 

�n = 2 – 2 

�n = Zero 

Kp  =  Kc (RT) �n 

Kp  =  Kc (RT) 0 

Kp  =  Kc  
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  PCl5 PCl3 Cl2 

� a 0 0 

 
x 0 0 

�<����6�������
����$��
���������� a – x  x x 

�����
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��6����
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����4�)��-�

a – x 
------ 

V 

x 
------ 

V 

x 
------ 

V 
 

PCl5                                 PCl3   + Cl2 

 

 
 
               [ PCl3 ] [ Cl2 ]       

                         Kc =   ----------------------      ------ 1 
                                           [ PCl5 ]   
   

   
   
 
                   x            x 
                 -----               -----        

         V                 V         
                   Kc =   ------------------------------- 

              ( a – X )   
              -----------                       
                   V                                               
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����������������������������������    )))) 

 
                            x 2 

              --------       
          V 2       
   Kc =   -------------------------                         
                               ( a – x )      

            -----------           
                    V 
 
 
                                  x 2              V    

Kc =   ---------  ×  ------------                   
               V2         (  a – X )   
    

   
       x 2 

       Kc =      ---------------       _____ 2     
         V ( a – x ) 
 

 
 

�n = n2 – n1 

�n = 2 – 1 

�n = 1 

Kp  =  Kc (RT) �n 

Kp  =  Kc (RT) 1         ________  3 
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����������������������������������    )))) 

PV  = nRT 

 

     PV 
RT = -----------   n = 4���������
�����
      n 

 
n=  a – x + x + x 
 
n= a +x 
 
 ��$���5� 1 �)�*��� RT ���������3
�������	�5�   

 
 
       x 2           PV 

       Kp  =      --------------- × -------             
                        V ( a – x )        n 

 
 
 

   n = a+x  �$�)���������������	�5�   

 
 
 
        x 2              PV 

       Kp  =      --------------- × ----------            
               V ( a – x )       (a+x) 

 
 

 
 
     x 2                P 

       Kp  =      --------------- × ----------            
                 ( a – x )         (a+x) 
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��������������������������������������������
����
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��� 4��7���-�
�)	�
���NH�����%���$�	���	������
�����$	�$�������
�)�*�������4�������������7���
  

  N2 3H2 2NH3 

� a b 0 

 
x 3x 0 

�<����6�������
����$��
���������� a – x b – 3x 2x 

�����
	�
��6����
���
����4�)��-�

a – x 
-------- 

V 

b–3x 
--------- 

V 

2x 
------ 

V 
 

   N2     +    3H2               2NH3        

 

    [ NH3 ]
2 

Kc = -------------------- 
         [ N2 ] [ H2 ]

3 

 

  

   
     
                                 2 x       2 

              --------       
          V        
   Kc =   ---------------------------------  

         a – x          b – 3x     3      
     ------------     ------------          

              V                V 
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                                 4 x 2 

              --------       
          V2        
   Kc =   ---------------------------------  

         a – x          b – 3x     3      
     ------------     ------------          

              V                V 
 
  
                                 4 x 2                           V4    

Kc =   ------------  ×    ----------------------------                   
               V2                         (  a – x )  (b – 3x)3    
 
 

                  4 x 2  V2    
Kc =   --------------------------------     _____1                   
                      (  a – x )  (b – 3x)3    

 

�n = n2 – n1 

�n = 2 – 4 

�n = – 2 

Kp  =  Kc (RT) �n 

Kp  =  Kc (RT) – 2         ______ 2  

 PV  = nRT 

     PV 
RT = -----------   n = 4���������
���� 
      n 

 
n =  a – x + b – 3x + 2x 
 
n = a + b – 4x + 2x  
 
n = a + b – 2x 
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����������������������������������    )))) 

 
                  4 x 2  V2         PV      – 2  

Kp =   -------------------------------- x      --------                         
                      (  a – x )  (b – 3x)3         n 

 
 
  

                    4 x 2  V2           n       2  
Kp =   -------------------------------- x      --------                         
                      (  a – x )  (b – 3x)3         PV 
 

 
 

   n = a + b – 2x  �$�)���������������	�5�   

 
 
 

 
               4 x 2  V2                a + b – 2x     2  

Kp =   -------------------------------- x      -----------------        
      (  a – x )  (b – 3x)3             PV 
 

 
 
 
 

               4 x 2  V2                ( a + b – 2x) 2  
Kp =   -------------------------------- x      ---------------------        
      (  a – x )  (b – 3x)3                 P2V2 

 
 
 
 

                 4 x 2  ( a + b – 2x) 2  
Kp =   --------------------------------   
             P2 (  a – x )  (b – 3x)3             
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16. H2 + I2          2HI  �$�)����$	�$���<���4�)���$�����������
�����7� 

�
H2 + I2           2HI  �

 
H2   �)�*���I2  ������7���4�������$���5�4��'�����$��4�)��-�
%�������7�����$��������
�
$��$���7�����	�
����'����
%�����-�HI  6'��������
�
�$�
��HI  ������7���4�����������4��'�����$��4�)��-�
%�������7�����$��������
���$��$���7�����	�
����'����
HI  �������	�4���8�7�����
�
�

17. H2 + I2          2HI  �$�)����$	�$���<��%?����������������
�����7� 

H2 + I2          2HI�
�
���$���5��)�*���������4��'�����$�����
����$������������
������0'�����
�/�%?�����������
	�$���<���������������	-���
�)��5��������
�
�
18.  N2 + 3H2          2NH3    �$�)����$	�$���<��%?�������$����

��������������7� 

 

• ���$���5��4��'�����$�����
����$������������
������4��'�����$�����
����$������������	�����%�������
0'����)����
�

• �$��/�%?��������%�������7���������$%��-�7�)	-��/��
�����
�
$��$���7�����	�
����'����%�����-�NH3    
6'��������
�

• %?��������7�)��7���������$%��-�%��������7��/��$���
�����
���$��$���7�����	�
����'����NH3    �������	�
4���8�7�����

�
�
�

www.Padasalai.Net.                                                                        www.Trb Tnpsc.Com

Kindly send me your key answers to our email id - padasalai.net@gamil.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/


���

����������������������������������������������	
������
��(  (  (  (  ����	�	
��
����	�	
��
����	�	
��
����	�	
��
�������������
������	�����
������	�����
������	�����
������	��������
�����������������������������������������������������������
����
��������������������������������������������
����
��������������������������������������������
����
��������������������������������������������
����
����������������������������������    )))) 

19.  N2 + 3H2          2NH3    �$�)����$	�$���<��4�������
	�$�����
��������������7� 

 
N2 + 3H2            2NH3     �H = – 92.2 KJ 

• 0��
��
$��$���7����$�4�����6��,�����$	�7���� 

• ��$��$���7����$�4�����4��������$	�7���� 

• �$���4�������
�	�%�������7�������������
�

��$��$���7�����	�
����'����NH3    �������	�4���8�7�����

• 4�������
�	�7�)��7��������������
�
$���$���7�

����	�
����'����%�����-�NH3    6'��������

�
20. �����
����$	�$���<�����$������)�)�	�$�������������

�����7� 

• 2'������
����$	�
������$������)�)��������

��������	-����)��5������ 

• 2'������
����$	�
������$������)�)���
$��$���7�

�)�*�����$��$���7����$����2���%��-���������$�)�� 

• ���$������)�)�	�$��2'����$	�$��������-��)�)�
�

7�)����$�)�� 

�
21. �����
����$	�$���<����������	-�����$������������

�����7� 

• 2'������
����$	�
����������	-������������7��������

��	-�����$���4������
A
��B*���$�������������)�*���

%�$��%?������%���������$�)�� 

• �$�
�����$���5��)�*���������4��'�����$���7���

%?���8�������*���
��
��

• �$�����)���$%���
����������	-������������7��������

�����
	�$���<���������������	-����)��5��������

�
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!!/ ��������������$��������������
4�������
	�$�������
���)�
�	�$���<���)��5���������������
��������������$���5������7��)���

�
�G0 = – RTln K   -------- 1  

 

   �G0 = �H0 – T�S0    

 

   – RTln K = �H0 – T�S0  

  

   RTln K = – �H0 + T�S0  

 

                   – �H0              T�S0  
   ln K =     ------------ +   -------------- --------- 2  
     RT                 RT 
 
 
 
                   – �H0               �S0  
   ln K =     ------------ +   -------------- -----3  
     RT                   R  
          

 
 
 
                 0��
���S0  �)�*���R =  0 

 
 
            d( ln K )            – �H0             1            
  ------------- =     ------------ –   [ ------ ]    
               dT            RT               T       
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           d( ln K )              �H0                 
  ------------- =     ------------      
               dT           RT2        
 
 
              
                             �H0          dT     
  d( ln K )  =     ------------  x --------    
                                   R             T2        
 
 
 

    
�

! / �-������������

�
������4��'�����$������������%�������0'�����
�/�����7)��
������-�4�)�)�'��7�����$���Kp 	�$��Kc @�����%�������
0'��7���

�
�
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����������������������������������    )))) 

!:/ �-������������

�
 

���$7������$������������-������
���)�
�	�$��������������
�����%�������0'�����
��������
���$��$���7�����	�
����'����
������4��'�����  �������	�4���8�7����
�
�
!C/ �<,���������$�3��7������
���)�
��Kc  ���������?���

 

 
 

   [ HI ] 2 
                         Kc = ---------------      ------ a 
                                   [ H2 ]  [ I2 ] 
 
 

 

 

     Kc =          [ CO2 ]   ------ b 
  
 
 
 

      [ SF6 ]  
                         Kc =   ------------------      ------ c 
                                         [ F2 ] 

3 
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26. �-����������� 

 
a) 

   
���$���5��)�*���������4��'�����$�����
����$������������
������0'�����
�/��$%��-������
	�$���<���������������	-���
�)��5��������
�
b) 

   
 

������4��'�����$�����
����$�����
����$�������������
���$���5��4��'�����$������������	�����%�������
0'����)�����
�$��/��$%����%�������7��������������
�
$��$���7�
����	�
����'����%�����-�������4��'�����   6'��������
�

c) 

   
 

���$���5��4��'�����$�����
����$������������
������4��'�����$�����
����$������������	�����%�������
0'����)�����
�$��/��$%����7�)��7��������������
�
$��$���7�
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1.  Ag2O  +  2NH3       2AgNO3    +    H2O 
   (S)         (aq)                     (aq)             ( l ) 
 

  
       

 
d) 

   
 
        [ H+ ]   [ HCO3

– ] 
     Kc = --------------------------- 
       [ CO2 ] 
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#"/ ���������������
��6���������$���)�*��������G$�������*�
����)�	���5��$�)��1�
• 4��5��������5��������������������� ���8�7���������

�����5��������/�2'������$�7,�	�
��
4�������5�������5��$�)���

• �����$�7,�	�	-�$��2'������7��7,�	��0����������5�
%�$���*
�$�(�������-��<��
��
A,��&������5��$�)���

• �����$�7,�	��	�4�������5�������������������������
��
6���������$��CO2 ��	-������)��(�������-��<�����
�����$�*�
��)�*��$�)��
�

2CuO  +   C     CO2    + 2Cu 
�

• ��������������
��6���������G$���<������)���<�)�)���������
�
���������<
���)������)�*��$�)��
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CuO   + 2H    H2O     + Cu 
�
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���<���6�����<8���$�����������
��7,��	�

4��*��������5����
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7�����5��)�*���%����HCl %�
�������������5��$�)���
• ���6K�	$���<
���)������$�*��)���

�
Na   +   C +    N   NaCN 
 

 6 NaCN   +  Fe(OH)2        Na4 [ Fe( CN )6 ]     +     2 NaOH 
 
Na4 [ Fe( CN )6 ]     +     4FeCl3   Fe4 [ Fe( CN )6 ]3   + 12 NaCl 

�� � � � � � ���4��������4��������	�$54��������4��������	�$54��������4��������	�$54��������4��������	�$5����
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����������5��$�)���

• L�����)������$�*��)��
�
Na2S   +  Na2 [ Fe( CN )5 NO ]    Na4 [ Fe( CN )5 NOS ] 
      

#:/ 
����$�H��
�)	�
����������������
��6����������G$���)�*�����
�
�����0���5���0'����
�������*�����)�	���5��$�)��1�

• 
����$�H��6'��7��*�$��4��������7�����5�����������5��$�)���

• 0�����������-���)������$�*��)����
�

Na  +  C  +  N  +  S        NaCNS 
 
3 NaCNS   +  FeCl3          Fe (CNS ) 3    +   3NaCl 

�
#C/ 
����$�H��
�)	�
����������������
��6�������G$�������*�

����)�	���5��$�)��1�

����$�H��6'��7��*�$�����������%��
����)�*���4������
������������������4�������5������5��$�)���

Na   +  X       NaX 
 
NaX   +  AgNO3        AgX   +   NaNO3 

 

������������
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����

������������G$�G$�G$�G$����� %���$�	���
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���	-�����)$����	-�����)$����	-�����)$����	-�����)$�����

�<,��&��$����)���<,��&��$����)���<,��&��$����)���<,��&��$����)������

#� 7�����$��� 
?��	���
�����$�)��

�	�������$�)�4������
��)��<,��&�-�

!� �-�����$�� �7��	��-�
�����$�)��

4�����	��I�������)�
�<,��&�-�
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NaCN   +   HNO3                   NaNO3   +   HCN 
 
Na2S   +   2HNO3                   2NaNO3   +   H2S 
 
NaCN   +   AgNO3                   NaNO3   +   AgCN 
 
Na2S   +   2AgNO3                   2NaNO3   +   Ag2S 
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• 6'��$�CO2���	-�KOH ����
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�
�
����<5����<5����<5����<5: 

 
��������������$������   =  W  g 

H2O   �
��%������������  =  X   g 

CO2 �
��%������������   =  Y   g 

 

�������������������G�$�$�����<������G�$�$�����<������G�$�$�����<������G�$�$�����<�������
�
18����<��
�� 2��������G�$��6���� 

 
            2                X 
�����G�$�$� %   =     --------   ×   --------- × 100 % 

18                 W 
   
 
�������$�$�����<����������$�$�����<����������$�$�����<����������$�$�����<�������
����
44���CO2���	-��
��12 ��������$�  6���� 

  
 
           12                Y 
�����$�$������$�$������$�$������$�$�   %   =       --------   ×   --------- × 100 % 

           44               W 
�
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     32                X 
�
����� %   =     ---------   ×   --------- × 100 % 

 233               W 
�
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%�7�����$�$������7�����$�$������7�����$�$������7�����$�$�������

�
��������������$������   =  W  g 

 
AgCl��<,��&��$������      =  a   g 
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143.5 ��� AgCl  �<,��&��
� 35.5 ���7�����$��6�����
 
          35.5               a 
7�����$��  %   =     ----------   ×   --------- × 100 % 

                                  143.5              W 
   
 
���-�����$�$��-�����$�$��-�����$�$��-�����$�$����������������������

�
��������������$������   =  W  g 

 
AgBr��<,��&��$������      =  b   g 

 
180 ��� AgBr  �<,��&��
� 80 ����-�����$��6�����
�
�
 
          80                b 
�-�����$��  %   =     ----------   ×   --------- × 100 % 

                                  180              W 
   
 
0�@�	�&$�$�@�	�&$�$�@�	�&$�$�@�	�&$�$����������������������

�
��������������$������   =  W  g 

 
AgI��<,��&��$������      =  c   g 

 
235 ��� AgBr  �<,��&��
� 127 ����-�����$��6�����
�
�
       127                c 
�-�����$  %   =       ---------   ×   --------- × 100 % 

    235               W 
 
7)����-����%DE����7)����-����%DE����7)����-����%DE����7)����-����%DE��������
�
4������ 7�����$�� �-�����$�� @�	�&$��
108 �� 35.5��� 80��� 127��� 
 

www.Padasalai.Net.                                                                        www.Trb Tnpsc.Com

Kindly send me your key answers to our email id - padasalai.net@gamil.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/


���

����������������������������������������������	
������
��(  (  (  (  ����	�	
��
����	�	
��
����	�	
��
����	�	
��
�������������
������	�����
������	�����
������	�����
������	��������
�����������������������������������������������������������
����
��������������������������������������������
����
��������������������������������������������
����
��������������������������������������������
����
����������������������������������    )))) 

�
!#/ 5��H��
�)	�
����������������
��6�������

G$��%����)��
���

�����	)��
����
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• 0��
�)	�
��CO2 4G$��������/������7,�	���)�*���6K���H��

���������<������6������
• 4��5��������5��������4���������������������2'�

���7,�	�	�
���������������5�$��4�������5������5��)���
• ��������������
��6���������G$�/������G$����	-����

��*��)���
• %����%��-�CO2 ��	-�4�������0*������6���������G$��


)�)������<�������5��)���
• ��������������G$����	-�6K���H�����������<�����
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���-�0$���
���-�= Sp����
����

• 2��4��'������$��%DE��$���Sp  0$���
���-����������
��������
�����&
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10. PCl5 �
A
��B)�
���������-�6'����
������7� 

 
              3s                3p 
P15  =      (%&��)�)
�����
) 

 
 
 
              3s                3p   3d 
P15 =                  (������-)�)��)�)
�����
) 

 
 

     Sp 3 d  0$���
���-�  

 
 

• 0$���
���-�0$���
���-�0$���
���-�0$���
���-�= Sp 3 d  ����

• %�����-�=�
�������0'������5%�����-�=�
�������0'������5%�����-�=�
�������0'������5%�����-�=�
�������0'������5����
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• ��H�����$��@����Sp 3 d    0$���
���-����������
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3pz�����������
��3�$����)�4��'������@����P – Cl   �������
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11. SF6 �
A
��B)�
���������-�6'����
������7� 

 
              3s                3p 
S16  =      ( %&��)�)
�����
�) 

 
 
 
              3s                3p           3d 
S16 =          ( ������-)�)��)�)
���

                    ���
�) 
 

  Sp 3 d2   0$���
���- 
�

• 0$���
���-�0$���
���-�0$���
���-�0$���
���-�= Sp 3 d2  ����

• %�����-�=����
%�����-�=����
%�����-�=����
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������������
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• �
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• �����G$��= 8 =  1s2  2s2  2p4 
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• �����G$��= 7 =  1s2  2s2  2p3 

 

• ������������-�=���	�����������$�������
�

� � � ���������� ���,��

• �������-���������������-���������������-���������������-����������"�������������������"����
�����������������������������������������������#�

• �
������$��%�����-�
�

�$��%�
#
���$&��%�

#��
����$�#%�

#
���$&�#%�

#��
���)��#'*��

#
�����)&#'+�

#
�����)&#'(�

#�

�

• 
A
��B*����������
����������
�

�

��

%&��'�

�

�
� � � � � �������)&#'*����)&#'+�

�

�

��� � � � � � � � ���

���������������������������������������������������������������������������������������������%����'�

������������

�

�
� � � � � ��������)#'*������)#'+��

�

�

�

� � � � � ������������%&��(�

�

� � ��������������(� � � � � � ����(�

�

�

� � � � � � ���%��(�

www.Padasalai.Net.                                                                        www.Trb Tnpsc.Com

Kindly send me your key answers to our email id - padasalai.net@gamil.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/


���

����������������������������������������������	
������
��(  (  (  (  ����	�	
��
����	�	
��
����	�	
��
����	�	
��
�������������
������	�����
������	�����
������	�����
������	��������
�����������������������������������������������������������
����
��������������������������������������������
����
��������������������������������������������
����
��������������������������������������������
����
����������������������������������    )))) 

#:/ ��������������5���NO���
A
��B*����������
������������
�����7��

• �����G$��= 7 =  1s2  2s2  2p3 
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A
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0'
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 q = ��$�(��  d =  ��$�(���3��7�0���	�6����4���
�-�
�
�

#;/ ����������	�B*�
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A
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A
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A
��B)�$���������������������
�������5���7�)�����������)�)
���������-��)�)
���$���5����
0�$��%
7�KJ/mol  �7���� 

�

www.Padasalai.Net.                                                                        www.Trb Tnpsc.Com

Kindly send me your key answers to our email id - padasalai.net@gamil.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/


� �

����������������������������������������������	
������
��(  (  (  (  ����	�	
��
����	�	
��
����	�	
��
����	�	
��
�������������
������	�����
������	�����
������	�����
������	��������
�����������������������������������������������������������
����
��������������������������������������������
����
��������������������������������������������
����
��������������������������������������������
����
����������������������������������    )))) 

20. ��	���-�����%������������ 

 
a) NO3

–  ( ���������%	$�����������%	$�����������%	$�����������%	$�� ) 

 
 

b) SO4
–2   ( �
������%	$���
������%	$���
������%	$���
������%	$�� )  

 

                      
 

c) HNO3  ( ���������%��
���) 

 

 
 

d) O3    (  9���$��9���$��9���$��9���$�� ) 

                         �
�

e) HNO2  ( �����H��%��
��������H��%��
��������H��%��
��������H��%��
��� ) 
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f) ��H���H��%��
����H���H��%��
����H���H��%��
����H���H��%��
��     ( H3PO3 )  

�������������������������������������������������� �

g) SO3  ( �
���������������5��
���������������5��
���������������5��
���������������5� )  

 

                                           
�

�
!#/ �����G$��2'�F�DE�
A
��B)�7���%$�
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•  �����G$�� = 1 = 1s1 
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A
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%����)��� 

• �
������$��0������0���5�������5��/�%����������-�
�
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• ��
��7�����	�$��������– 

����p-����p  >  ����p-bp  >  bp-bp 
�
�
!C/   VSEPR 4�������	�$��
A
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• SF6 = ���
�����
�����
�����
������
• IF7 = @8������0'������5@8������0'������5@8������0'������5@8������0'������5����

 

• BeCl2 = ���������5�%�����-�
• BF3 = 
��������������
• H2O, SO2 and O3 =  �������%�����-�
• CH4 = ��$�
���
• NH3 =  �����5�%�����-����
• PCl5 = 
��������0'������5����
• SF4 = L�
�����%�����-�
• BrF3 = T-%�����- 

 
!�/ 0�)�)�
�������
A
��B*��7�%�����������-��������6�����1�
�

• N2 = 3 

• N2
+ = 2.5 

• N2
– = 2.5 
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  �������-��������=  -------------- 

         2 
 Nb =   �������-��
������$���� 

    Na =   �������������-��
������$�����

  / �
������$��������$����	�4����5���������������
��6����
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�� -.���-��"���/�
50% %	$�����$����

�� -.���-���0���/� 50% ��7�7�)��$��
%	$�����$����

�� -.���-���1���/ �� ��� 50% ��7�%�����$��
%	$�����$����
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CF2Cl2     

C2F2Cl4     

C2F3Cl3     

CHFCl2     

CH2FCl     

C2HF3Cl2     

C2H2F2Cl2     
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C2H4FCl     
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